
BY  W U N D E R L I C
H

1

FO !IN
Bei Arbeiten an der elektrischen Anlage grundsätzlich Batterie (Minuspol) abklemmen! 

When working on the electric system always disconnect the battery (negative pole).

I

IV

II
Ø = 12.7 mm

L = ~180 mm/ 7"

Ø = 9.5 mm
L = ~65 mm/ 2.6"

B C

7
6

1a

1

2

5
3

4

Batterie (+) (-)

D

Sicherheitsscheibe
safety washer
5mm

Sicherheitsscheibe
safety washer

5mm

1

1

Bordsteckdose
Board socket

Zusatzscheinwerfer für            
Duo-Lever

BMW K 1600 GT/GTL
Bestellnummer 35570-102

News, Shop, Downloads + Informationen:
www.wunderlich.de

Kataloganforderung + Downloads:
www.wunderlich.de/katalog

Catalogue download (English):
www.wunderlich.de/update

General information, dealers and news:
www.wunderlich.de/International

Download catalogo (italiano):
www.wunderlich.de/update

Informazioni generali, dealer e Novità:
http://www.wunderlich.it

Télécharger les catalogues (francais):
www.wunderlich.de/update

Informations générales et distributeurs:
www.wunderlich.fr

Descargar los catálogos (español):
www.wunderlich.de/update

Informaciones generales, tiendas y noticias:
www.wunderlich.de/International

Auxiliary light for           
Duo-Lever

BMW K 1600 GT/GTL
Part Number 35570-102

„Micro Flooter“ per         
Duo-Lever

BMW K 1600 GT/GTL
Codice 35570-102

Phares supplémenttaires 
pour Duo-Lever

BMW K 1600 GT/GTL
Pièce 35570-102

„Micro Flooter“ para    
Duo-Lever

BMW K 1600 GT/GTL
Pieza 35570-102

Anbauanleitung     Fitting Instruction     Istruzione     Instructions     Instrucciones

Copyright by Wunderlich©

Wunderlich GmbH • Kranzweiher Weg 12 • 53489 Sinzig • Gewerbepark • Germany • Tel. +49-(0)2642-97980 • Fax +049-(o)2642-979833 • e-mail wunderlich@wunderlich.de
Geschäftsführer/Managing Directors: Erich Wunderlich, Frank Hoffmann • Amtsgericht Andernach • HRB 12314 • USTID-Nr./VAT-No. 01 DE 149 271 221 www.wunderlich.de

A

Hülse
spacer
D=16
d=8,2
l=8,5

Hülse
spacer
D=16
d=8,2
l=8,5

Hülse
spacer
 D=14,5
d=5,5
l=4

Hülse
spacer
 D=14,5
d=5,5
l=4

M5x8
T  O  R  X
Schraube
screw

M5x12
T O  R  X
Schraube
screw

Hülse
spacer
D=8
d=6,5
GH=8

M8x40
T  O  R  X
Schraube
screw

M8x40
T  O  R  X
Schraube
screw

Unterlegscheibe
washer

Hülse
spacer
D=8
d=6,5
l=6

Unterlegscheibe
washer

M6x16
T  O  R  X
Schraube
screw

M6
Mutter
nut



BY  W U N D E R L I C
H

Anbauanleitung     Fitting Instruction     Istruzione     Instructions     Instrucciones

Wunderlich GmbH • Kranzweiher Weg 12 • 53489 Sinzig • Gewerbepark • Germany • Tel. +49-(0)2642-97980 • Fax +049-(o)2642-979833 • e-mail wunderlich@wunderlich.de
Geschäftsführer/Managing Directors: Erich Wunderlich, Frank Hoffmann • Amtsgericht Andernach • HRB 12314 • USTID-Nr./VAT-No. 01 DE 149 271 221 www.wunderlich.de

L L

I

2

H2

H1

FED G1

G2

J1

J2

Copyright by Wunderlich©



BY  W U N D E R L I C
H

Anbauanleitung     Fitting Instruction     Istruzione     Instructions     Instrucciones

Copyright by Wunderlich©

Wunderlich GmbH • Kranzweiher Weg 12 • 53489 Sinzig • Gewerbepark • Germany • Tel. +49-(0)2642-97980 • Fax +049-(o)2642-979833 • e-mail wunderlich@wunderlich.de
Geschäftsführer/Managing Directors: Erich Wunderlich, Frank Hoffmann • Amtsgericht Andernach • HRB 12314 • USTID-Nr./VAT-No. 01 DE 149 271 221 www.wunderlich.de

L L

M1L2L1

K2

K1

4

M3 N1

3

M2

R

3

3

2

1

1

R
max. 28Nm / 20lbf-ft



BY  W U N D E R L I C
H

Anbauanleitung     Fitting Instruction     Istruzione     Instructions     Instrucciones

Copyright by Wunderlich©

Wunderlich GmbH • Kranzweiher Weg 12 • 53489 Sinzig • Gewerbepark • Germany • Tel. +49-(0)2642-97980 • Fax +049-(o)2642-979833 • e-mail wunderlich@wunderlich.de
Geschäftsführer/Managing Directors: Erich Wunderlich, Frank Hoffmann • Amtsgericht Andernach • HRB 12314 • USTID-Nr./VAT-No. 01 DE 149 271 221 www.wunderlich.de

L L

P

O2

O3 O4

O5

Q R1 R2

4

N2

(-)
Batterie (+)

4
3

5
O1

4

5

6

5

7

6
6

min. 1mm



BY  W U N D E R L I C
H

Anbauanleitung     Fitting Instruction     Istruzione     Instructions     Instrucciones

Copyright by Wunderlich©

Wunderlich GmbH • Kranzweiher Weg 12 • 53489 Sinzig • Gewerbepark • Germany • Tel. +49-(0)2642-97980 • Fax +049-(o)2642-979833 • e-mail wunderlich@wunderlich.de
Geschäftsführer/Managing Directors: Erich Wunderlich, Frank Hoffmann • Amtsgericht Andernach • HRB 12314 • USTID-Nr./VAT-No. 01 DE 149 271 221 www.wunderlich.de

U2

T

U1

5

S

V2V1

7

(+)

(+)

7

7



BY  W U N D E R L I C
H

Anbauanleitung     Fitting Instruction     Istruzione     Instructions     Instrucciones

Copyright by Wunderlich©

Wunderlich GmbH • Kranzweiher Weg 12 • 53489 Sinzig • Gewerbepark • Germany • Tel. +49-(0)2642-97980 • Fax +049-(o)2642-979833 • e-mail wunderlich@wunderlich.de
Geschäftsführer/Mamaging Directors: Erich Wunderlich, Alexander de la Motte • Amtsgericht Andernach • HRB 12314 • USTID-Nr./VAT-No. 01 DE 149 271 221 www.wunderlich.de

L L

W1

W2

X2

Y1

Z1Y2

6

X1


